
PN 10-10863  |  Rev A    |  7-16-2019

ABI Force Z-23 
Rear Pivot Lift System

Product Instructions



ITEM PART # DESCRIPTION QTY

1

2

3

4

5

6

7

8

9

10

2

2

1

2

2

4

2

1

1

1

10-20154

10-20146-11LINKS

10-40453

10-20342

10-20055

10-20195

10-20279

10-20232

10-20239

10-40452

5/16" SNAP HOOK

CHAIN: 3/16" PROOF COIL: 11 LINKS

ASM: REAR SECTION: CUSTOMER ASSEMBLE: PIVOT HITCH

PIN:3/8" SQ WIRELOCK:3.75 OAL

NYLOCK NUT:3/8-16:ZINC GR5

FLT WSHR:3/8 SAE:CL ZINC

HX HD BOLT:3/8-16 1.0 ZINC GR5

LYNCH PIN:1/4"X1.25":ZINC

CLEVIS PIN: 5/8" X 2.50

PIVOT: MACHINE SIDE

2www.abisupport.com 877-788-7253

1

10

9

8

5 6 7

3

2

4



ITEM PART # DESCRIPTION QTY

1

2

3

4

5

6

7

8

9

4

1

1

5

1

9

9

1

1

10-20330

10-31666

10-31667

10-20405

10-31665

10-20055

10-20195

10-31668

10-31671

CARR BOLT:3/8-13 2.5":ZINC GR5

EAR: TOOL CONNECT LH: PIVOT HITCH

BRKT: TOPLINK AND CHAIN MOUNT: PIVOT HITCH

CARR BOLT:3/8-13 2.75":ZINC GR5

EAR: TOOL CONNECT RH: PIVOT HITCH

NYLOCK NUT:3/8-16:ZINC GR5

FLT WSHR:3/8 SAE:CL ZINC

PLATE: BOTTOM WITH GUSSETS: PIVOT HITCH

TUBE: CROSS BAR: PIVOT HITCH

3www.abisupport.com 877-788-7253

1

2

3

4

8

9

1

5

7

6



Assemble rear section to pivot section.

Install lift chains and toplink pin.

4www.abisupport.com 877-788-7253



Top link and outer pivot ear 
connection for all rear attachments.

Attach the chains to the lifting arm.

Hitch connection to the ABI Force Z-23.

5www.abisupport.com 877-788-7253


